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WIER K E BB AT IE SR AR AT 5

% # s - BRHE s ¥ 8 i & & =
BRI 6,403,400 + 134,574 6,537,974
EEAGHE 6, 403, 400
EERE 134,574
Z Ot [ 1 6,403,400 x 53.85% ( 35% =+ (1 — 35%) ) 3,448,230
EBIRME 6,537,974 + 3,448,230 9,986, 204
—REEERE 9,986,204 x 53.85% ( 35% + (1 — 35%) ) — 3,774 5,373,796
EX T 9,986,204 + 5, 373,796 15, 360, 000
HETEELE 15,360,000 x 10.00% 1,536, 000
¥BERAH 15,360,000 + 1,536, 000 16, 896, 000




BEARE K S BB FIE R AR A TS
& [ & - RTE B 2 i € # W E
B[R 6,537, 974
R BEHES: ] 6,537, 974
R BEHES: ] 6,537, 974
L BEaES: 6, 403, 400
ERETETE 140, 050
REtEtE .00 140, 050 140, 050
=
B ERET 1,703, 400
2 BEETO®KRE .00 153, 900 153, 900
=
3 REMNEBE .00 1, 549, 500 1, 549, 500
=
B f+ER D4R AL 2,997,000
4 BEHTO®RET .00 461, 700 461, 700
=
5 ZEMDEBE .00 1,297,950 1,297, 950
=
6 EEHETDRE .00 1,237, 350 1,237, 350
=
EHEE%E 791, 050
7 EEER .00 577, 750 577,750
=
8 HEEE .00 213, 300 213, 300
=




BEARRE KB AR M SR SR A TS

% [ BE - BT B B B T # wm B

MR 225,900

9 |MESMHEM 1.00 225,900 225,900
=

i - |E 352, 200

10 #58 - |& 3.00 117, 400 352, 200
[=]

BE 193, 800

1 BE 1.00 193, 800 193, 800
=

EERE 134,574

EHARE 58,574

12 EHAME 1.00 58,574 58,574
=

MR 76, 000

13 EHAR SR 1.00 76, 000 76, 000
=




i - T/ w7 —2 KB B S SR R

&5 1
B BRETEHE 1KLY
2 [ R - BKTE By H = B £ %8 W = 5 &
F T EED (BRED)
A 1.00 62, 200. 00 62, 200
A (A)
A 1.00 55, 200. 00 55,200
HEm (B)
A 0.50 45, 300. 00 22,650
& R fEEEEH - 1.00K 140, 050. 00 140, 050
5:2
B BEHETORE KLY (1K)
2 L R - KT By H = B & %8 W = 5 &
A (A)
A 1.00 55, 200. 00 55,200
HEm (B)
A 1.00 45, 300. 00 45,300
A& (C)
A 1.50 35, 600. 00 53, 400
& B fEZ8EH - 1. 00K 153, 900. 00 153, 900
&5 :3
2 REHORE 1XH=Y
% E A - kTiE B H = B & el = i &
F T HED BRED)
A 1.50 62, 200. 00 93, 300
A (A)
A 4.50 55, 200. 00 248, 400
HEm (B)
A 12.00 45, 300. 00 543, 600
A& (C)
A 12.00 35, 600. 00 4217, 200
Hittg
A 7.50 31, 600. 00 237,000
& R fEEfEH - 1.00K 1, 549, 500. 00 1, 549, 500




Rffik -/ \v7r—o

KEEMER R RE £

5:4
2 BEHETOBRE 1KLY
2 L R - KT B = B i %8 5 &
A (A)
A 3.00 55, 200. 00 165, 600
AR (B)
A 3.00 45, 300. 00 135, 900
A& (C)
A 4.50 35, 600. 00 160, 200
& B YEZEEH - 1. 00K 461, 700. 00 461, 700
&8 :5
& REMHORE 1X&zY
% L R - kTiE By = B {f B i &
F T HED BRED)
A 1.50 62, 200. 00 93, 300
A (A)
A 3.00 55, 200. 00 165, 600
AR (B)
A 10. 50 45, 300. 00 475, 650
A (C)
A 10. 50 35, 600. 00 373, 800
Hittg
A 6. 00 31, 600. 00 189, 600
& R fEEEEH - 1.00K 1,297, 950. 00 1,297, 950




Rffik -/ \v7r—o

KEEMER R RE £

&5 :6
2 BEHETDRE 1KLY
2 L R - KT B = B i %8 W = 5 &
F AR GRED
A 3.00 62, 200. 00 186, 600
AR (A)
A 3.00 55, 200. 00 165, 600
A& (B)
A 7.50 45, 300. 00 339, 750
AR (C)
A 6. 00 35, 600. 00 213, 600
BT &
A 10. 50 31, 600. 00 331, 800
& B YE¥REH : 1.00 1,237, 350. 00 , 237, 350
5:1
2 BEERK 1X&zY
% L R - kTiE By = B {f B = i &
HEm (B)
A 1.50 45, 300. 00 67,950
A (C)
A 5.00 35, 600. 00 178, 000
Hittg
A 10. 50 31, 600. 00 331, 800
& R fEEEEH - 1.00K 571, 750. 00 5717, 750
=:8
BF MEFE 1KLY
2 [ R - BKTE B = B i %8 W = 5 &
HEm (B)
A 1.00 45, 300. 00 45,300
A& (C)
A 2.50 35, 600. 00 89, 000
Hittg
A 2.50 31, 600. 00 79, 000
& R fEEfEH - 1.00K 213, 300. 00 213,300




Rffik -/ \v7r—o

KEEMER R RE £

&S :9
B MEEER 1y
4 5 R - BRTR B 2 B % 5 &
e TG HY
A 1.00 62, 200. 00 62, 200
A (A)
A 1.50 55, 200. 00 82, 800
BER (B)
A 1.00 45, 300. 00 45, 300
HEm (C)
A 1.00 35, 600. 00 35, 600
& it fEZREH 100 225, 900. 00 225,900
5 :10
& & - |E HEED)
4 b LI 2 NS =-Fiv] 2 B %5 5 &
e TG HY
A 1.00 62, 200. 00 62, 200
A (A)
A 1.00 55, 200. 00 55, 200
& it fEZREH - 1.00H= 117, 400. 00 117, 400
B#5: 1
&2 BE 14y
4 b LI 2 NS =-Fiv] 2 B %5 5 &
e TG HY
A 1.50 62, 200. 00 93, 300
A (A)
A 1.00 55, 200. 00 55, 200
BER (B)
A 1.00 45, 300. 00 45, 300
A it fEZRES - 1.00=% 193, 800. 00 193, 800




i - T/ w7 —2 KB B S SR R

HE5:12
2% EBERARE XY
4 g R - KT By 8 = B i & £ W = 5 &=
EHERRE
= 1.00 58, 574. 00 58,574
& H YE¥REH : 1.00 58,574.00 58,574
&HE5 13
& EBHRR 1X5Y
2 Eu R - kTiE By B =2 ] & el = i &
(B RRE
= 1.00 76, 000. 00 76, 000
= &t YEEBEH : 1.00 76, 000. 00 76, 000




